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QUESTION 1

In which type of architecture diagram would the architect be most likely to list the IP addresses of individual servers?
A. Physical

B. Logical

C. Conceptual

D. Data Flow

Correct Answer: A

QUESTION 2

A company\\'s entertainment website contains the following features:

A homepage with a consistent toolbar and listing of articles by category
A community page

Individual article pages containing a combination of text and images.

End users are able to create new forums, browse article by category, log in using a modal dialog box, and search from
the toolbar.

How many AEM templates should the architect create?
A. Ten

B. Seven

C. Five

D. Three

Correct Answer: B

QUESTION 3

An architect must optimize the performance of the home page of a client\\'s website. The client requires that search
engines index the home page content.

The home page must NOT be cacheable because it displays a list of recently shared articles.

This list is generated by using an AEM component that performs a real-time look-up to an API from a third-party
company.

Which solution should the architect choose?
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A. Replace the real-time API access with a scheduled job inside AEM that runs every 15 minutes to update the data and
trigger a dispatcher cache flush

B. Replace the AEM component\\'s server-side logic with a JavaScript widget provided by the third p
C. Cache the home page using the Dispatcher and implement a cron job to remove the cached file every 15 minutes
D. Cache the rest of the home page and deliver the recently shared article list using AJAX

Correct Answer: A

QUESTION 4

A company\\'s news media website becomes unresponsive during an off-peak time. The AEM team investigates and
identifies a DoS (Denial of Service) attack.

Which two security measures should the architect use to reduce the chances of another attack? (Choose two.)
A. Change the passwords for default out-of-the box users (admin, author)

B. Uninstall all sample content and users that ship out of the box with AEM

C. Disable the default selectors .feed.xml and .infinity.json

D. Implement a Dispatcher filter to allow only known selectors

Correct Answer: CD

QUESTION 5

Which three tasks can users achieve with AEM Dispatcher? (Choose three.)
A. Provide load balancing

B. Poll AEM for content invalidation

C. Secure AEM application

D. Cache HTML content

Correct Answer: ACD

QUESTION 6

A packaged goods company is migrating its current site to AEM. The company has a presence in the US, but is
expanding into two other countries within 12 months of launch on AEM.

During which two tasks should the architect consider this expansion goal? (Choose two.)

A. Site hierarchy definition
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B. Component development
C. Workflow implementation
D. Content migration

Correct Answer: BD

QUESTION 7

Which type of architecture diagram should an architect use to present application code and content flow?
A. Deployment

B. Physical

C. Data Flow

D. Logical

Correct Answer: C

QUESTION 8

AEM installs default groups and users.

Which two concepts should the architect know about the admin, anonymous, and author users? (Choose two.)
A. Keep all three users as default

B. All default accounts should be deleted.

C. Modifying the anonymous account creates additional security implications.

D. Change the password for the admin account from the default.

Correct Answer: BC

QUESTION 9

While conducting analysis during the discovery phase, several artifacts are obtained as outputs from activities such as
surveys, questionnaires, and data gathering.

What is the LEAST significant option?
A. Mobile and tablet display features
B. Content types that must be migrated

C. Navigation structure
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D. Page load speed

Correct Answer: B

QUESTION 10

Which three requirements, can be met by using AEM OOTB features/components? (Choose three.
A. Use Google + to personalize user content

B. Hide pages within content hierarchy

C. Index PDF documents uploaded to AEM repository

D. Enter additional data while approving workflow content

Correct Answer: BCD

QUESTION 11

Which three statements about Multi Site Manager, Blueprint, and Live Copy functionality are true?
A. Live Copy of a particular Blueprint inherit Rollout configuration is configured on a Blueprint

B. Immediate children of Multi Site Manager (MSM) Blueprint root page are language branches.
C. Blueprint can have one or more Live Copies.

D. Live Copy can inherit from multiple Blueprints.

Correct Answer: C

QUESTION 12

An architect must incorporate measures to prevent content grabbing. Which two recommendations should the architect
configure? (Choose two.)

A. Apache Sling POST Servlet

B. Apache Sling GET Servlet

C. Dispatcher filter section

D. Dispatcher allowed Clients section

Correct Answer: BC

QUESTION 13
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A customer plans to display icons next to the search results for keyword queries on their site.

These icons should be based on the type of document that results from the search.

Which step should the architect recommend?

A. Copy the entire foundation search component into the project under /apps and modify the search.jsp
B. Create a matching folder structure under /apps for the search component with a custom search.jsp

C. Create a new component under the /apps project called search with a sling:resourceSuperType of the foundation
search component

D. Make modifications the search.jsp for the foundation component under /libs

Correct Answer: C

QUESTION 14

A client acquires multiple companies that operate autonomously and want to use AEM to host all of their
websites.

How should the author users be grouped?

A. Company-specific groups for workflow approval steps and general groups for content editing

B. General groups for workflow approval and content editing

C. Separate company-specific groups for both content editing and workflow approval steps

D. Default AEM groups for workflow approval and company-specific groups for content editing

Correct Answer: C

QUESTION 15

A project has a fixed budget and a deployment date that can NOT be moved. To meet these requirements, the architect
must perform two steps after the go-live date.

Which two steps should the architect choose? (Choose two.)
A. Performance testing

B. Unit testing

C. Tough day testing

D. Integration testing

Correct Answer: AC

9A0-385 PDF Dumps | 9A0-385 VCE Dumps | 9A0-385 Practice Test 6/7


https://www.passapply.com/9a0-385.html
https://www.passapply.com/9a0-385.html
https://www.passapply.com/9a0-385.html

VCE & PDF https://www.passapply.com/9a0-385.html
2024 Latest passapply 9A0-385 PDF and VCE dumps Download
PassApply.com

9A0-385 PDF Dumps 9A0-385 VCE Dumps 9A0-385 Practice Test

9A0-385 PDF Dumps | 9A0-385 VCE Dumps | 9A0-385 Practice Test 717


https://www.passapply.com/9a0-385.html
https://www.passapply.com/9a0-385.html
https://www.passapply.com/9a0-385.html
http://www.tcpdf.org
https://www.passapply.com/9a0-385.html
https://www.passapply.com/9a0-385.html
https://www.passapply.com/9a0-385.html

